3. Given the following equation,
N2O(g) + NO2(g) — 3 NO(g) AG°xn =-23.0kJ
Calculate AG°rxp for the following reaction.
6 N2O(g) + 6 NO2(g) — 18 NO(g)
A)-23.0kJ
B) 138 kJ
C)-138kJ

D)-3.83kJ
E)23.0kJ

4. Calculate AG® (in kJ/mol) for the following reaction at 1 atm and 25 °C:

AGf CoHg (g) = -32.89 kJ/mol; AGf* CO2 (“@i@ﬁoa' AGf H20 (1) = -237.13 kl/mol

C2Hg (g) + 02 (g) — CO2 (g) + H20O (1) (unbalanced) e CO .
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5. Overall reaction: Cu(s) + 2Ag " (ag) — Cu? F(ag) + 2Ag(s)

(a) Assign oxidation numbers

(b) break into half reactions, and label them as oxidation half reaction and reduction half reaction



